CM2021/09/14 Tuesday, September 14, 2021 4:30 PM

First, we need to show that dyadic product is in fact a linear operator

$$(UOY)(G + pb) \stackrel{?}{=} (UOY)G + B(UOY)b$$

$$(UOY)(G + pb) \stackrel{?}{=} U(Va + B Vab) dd.$$

$$= U(Va + B Vab) propuls of interpreted
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd. of G
= U(Vab) a + B (UB) b dd h do is in the show the show this
= U(Vab) a + B (UB) a head to show this
= U(Vab) a + B (UB) a head to show this
= U(Vab) a + B (UB) a head to show this
= U(Vab) a + U(Vab) a$$

CM Page 1

$$\begin{aligned} \int u_{i} = (T_{i}) e_{i} \\ = (e_{i}, T_{i}) e_{i} \\ = (e_{i}, T_{i}) e_{i} \\ = \left[e_{i} \cdot T_{i} (u_{j}e_{j}) \right] e_{i} \\ = \left[e_{i} \cdot T_{i} (u_{j}e_{j}) \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{j} T_{e_{j}} \right] \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{j} T_{e_{j}} \right] \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{j}} \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{j}} \right] \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{j}} \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{j}} \right] \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{j}} \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{j}} \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{j}} \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{i}} \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{i}} \right] e_{i} \\ = \left[e_{i} \cdot \left[u_{i} T_{e_{i}} \right] e_{i} \\ e_{i} \cdot \left[e_{i} \right] e_{i} \\ e_{i} \cdot e_{i} \cdot e_{i} \right] e_{i} \\ e_{i} \cdot e_{i} \cdot e_{i} \\ e_{i} \\ e_{i} \cdot e_{i} \\ e_{$$

CM Page 2

Theorem 51 Let $T \in \text{Lin } \mathcal{V}$ with components T_{ij} w.r.t. the r.C.c.f. X, and let $\mathbf{u}, \mathbf{v} \in \mathcal{V}$ with components u_i, v_i w.r.t. X. Then

$$\mathbf{T}\mathbf{u} = \mathbf{v} \Leftrightarrow T_{ij}u_j = v_i.$$

Proof. Suppose Tu = v. Then

- $v_i = \mathbf{e}_i \cdot \mathbf{v} \ (components \ of \mathbf{v}),$ $= \mathbf{e}_i \cdot (\mathbf{T}\mathbf{u})$ (supposition),
 - $= \mathbf{e}_i \cdot [(T_{kl} \mathbf{e}_k \otimes \mathbf{e}_l) \mathbf{u}]$ (component representation of **T**),
 - $= \mathbf{e}_i \cdot [T_{kl} (\mathbf{e}_k \otimes \mathbf{e}_l) \mathbf{u}]$ (defns. of tensor + and scalar mult.),
 - $= \mathbf{e}_i \cdot [T_{kl} (\mathbf{e}_l \cdot \mathbf{u}) \mathbf{e}_k] \ (defn. \ of \ \otimes),$
 - $= \mathbf{e}_i \cdot [T_{kl}(u_l \mathbf{e}_k)]$ (components of \mathbf{u}),
 - $= T_{kl}u_l(\mathbf{e}_i \cdot \mathbf{e}_k)$ (distr. and homog. of \cdot),
 - = $T_{kl}u_l\delta_{ik}$ (orthonormality of base vectors),
 - = $T_{il}u_l = T_{ij}u_j$ (property of δ_{ik} and labeling).
- \therefore Tu = v \Rightarrow $T_{ij}u_j = v_i$.

V=Te Vi = Tig Uj

Matrix is the component expression of a 2nd order tensor in a particular coordinate system.



How about 2nd order tensors?



$$T_{nn} = Q_{ni} T_{ij} Q_{ij} = (Q T Q^{T})$$

$$T_{nn} = Q_{ni} T_{ij} Q_{ij} = (Q T Q^{T})$$

$$T_{ij} = Q [T] Q^{T}$$

$$T_{ij} = Q [T] Q^{T}$$

$$U_{ij} = V_{ij} = T_{ij} V_{ij}$$

$$V = T_{ij} = U_{ij} = U_{ij} = Q^{T} [U_{ij}]$$

$$U_{ij} = Q [U_{ij} \rightarrow U_{ij} = Q^{T} [U_{ij}]$$

$$U_{ij} = Q [U_{ij} \rightarrow U_{ij} = Q^{T} [U_{ij}]$$

$$U_{ij} = Q [U_{ij} \rightarrow U_{ij} = Q^{T} [U_{ij}]$$

$$U_{ij} = Q [U_{ij} \rightarrow U_{ij} = Q^{T} [U_{ij}]$$

$$P_{ij} = Q [U_{ij} \rightarrow U_{ij} = Q^{T} [U_{ij}]$$

$$Q(Q^{T} [U_{ij}] = [T] Q^{T} [U_{ij}]$$

$$Q(Q^{T} [U_{ij}] = [T] Q^{T} [U_{ij}]$$

$$U_{ij} = U_{ij} = U_{ij} = U_{ij} = U_{ij}$$

$$U_{ij} = U_{ij} = U_{ij} = U_{ij} = U_{ij}$$

If T is a second order tensor, then its components are transferred between two coordinate systems as,

$$T_{i_1i_2} = Q_{i_1j_1} Q_{i_2j_2} \overline{f_{j_1j_2}}$$

The inverse, if the components of 2 index array follow the coordinate transformation above, it's a 2nd order tensor

Theorem 53 Let there be a set of nine real numbers associated with every r.C.c.f. in a three-dimensional Euclidean point space \mathcal{E} . For example, consider the sets $\{\mathbf{X}, \mathbf{e}_i, T_{ij}\}$ and $\{\mathbf{X}', \mathbf{e}'_i, T'_{ij}\}$ where X and X' are arbitrary frames with respective base vectors \mathbf{e}_i and \mathbf{e}'_i . Then \exists ("there exists") $\mathbf{T} \in$ $\operatorname{Lin} \mathcal{V}$ given by $\mathbf{T} = T_{ij} \mathbf{e}_i \otimes \mathbf{e}_j = T'_{ij} \mathbf{e}'_i \otimes \mathbf{e}'_j$ iff the two-index symbols T_{ij} and T'_{ij} satisfy the transformation rules

$$T'_{ij} = \lambda_{ik}\lambda_{jl}T_{kl}; \ T_{ij} = \lambda_{ki}\lambda_{lj}T'_{kl}.$$

for all choices of $\{X, e_i, T_{ij}\}$ and $\{X', e'_i, T'_{ij}\}$, where λ_{ij} are the cosines of the angles between \mathbf{e}'_i and \mathbf{e}_j .

Example of a 2-array that is not a tensor

1 2. 8 NEJ

 $Q_{r}\left[\begin{array}{c} \varrho_{1}^{\prime}\\ \varphi_{2}^{\prime}\end{array}\right]$

$$\begin{array}{c} \left(\begin{array}{c} \partial u & \partial & iz \\ \partial u & \partial & iz \\ \partial & u & \partial & iz \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & \partial & iz \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & iz \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & \partial & u \\ \partial & u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \hline \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \\ \\ \end{array} \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \\ \\ \left(\begin{array}{c} \partial u & iu \end{array}\right) \\ \\ \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \end{array} \\ \\ \\ \\ \\ \end{array} \\ \\$$

 $\mathcal{J}_{N} = \mathcal{E}_{i,i} = \frac{\partial u_{i}}{\partial x_{i}}$

Transpose of a tensor Transpose of a second order tensor T is defined as,

$$\forall u, VG$$
) $(V. Tu = Ve TU$ $u. TV = V. TU$

$$\begin{array}{c} \forall u, v_{0} \end{pmatrix} \left(\begin{array}{c} V. Tu = v_{0} Tv \\ u. Tv = V. Tu \\ tu = v_{0} Tv \\ tu = v_{0} Tv$$

Some properties of transpose:

1)
$$(T^{+})^{+} = T$$

2) $(T + S)^{+} = T^{+} + S^{+}$
3) $(\propto T)^{+} = \pi T^{+}$
4) $T^{+} = T$
5) $(u \otimes v)^{+} = V \otimes u$
 $(u \otimes v)^{+} = V \otimes u$
 $(u \otimes v)^{+} = V \otimes u$
 $= v_{i} (u \otimes v) = y \cdot u_{i}$
 $(u \otimes v)^{+} = y \cdot u_{i}$
 $(u \otimes v)^{+} = (u \otimes v) = y \cdot u_{i}$
 $(u \otimes v)^{+} = (u \otimes v) = y \cdot u_{i}$
 $(u \otimes v)^{+} = (u \otimes v) = y \cdot u_{i}$

Some definitions related to symmetry:

Symmetric tensor:

Skew-symmetric

Any 2nd order tensor can be written as the sum of a symmetric and skew symmetric tensors

Tensor product:

Some properties of tensor product:

$$\frac{1}{2} (Rs)TeR(ST) \qquad assurable
21 T(RvS) = TR TS distributie
3) (aR)(pT) = (ap) RT homography
4) IT = TI = T
5) BS)t = StRt
Component expression (ST)i = ?
(ST)i = Sik Tk)$$

Theorem 61 Let $S, T \in \text{Lin } \mathcal{V}$. The rectangular Cartesian components of the product ST w.r.t. a given r.C.c.f. $\{X, e_i\}$ are

$$(\mathbf{ST})_{ij} = S_{ik}T_{kj},$$

where S_{ik} and T_{kj} are the components of S and T. w.r.t. X.

Proof. According to Definition 28, the components of ST w.r.t. the frame $\{X, e_i\}$ are given by

$$(\mathbf{ST})_{ii} = \mathbf{e}_i \cdot (\mathbf{ST}) \mathbf{e}_j$$

 $= \mathbf{e}_i \cdot \mathbf{S} (\mathbf{T} \mathbf{e}_j)$ (definition of tensor product),

 $= \mathbf{e}_i \cdot \mathbf{S} (\mathbf{T} \mathbf{e}_j)_k \mathbf{e}_k$ (component form of vector $\mathbf{T} \mathbf{e}_j$),

 $= \mathbf{e}_i \cdot \mathbf{S} \left[\mathbf{e}_k \cdot (\mathbf{T} \mathbf{e}_j) \right] \mathbf{e}_k \text{ (Theorem 36)},$

 $= \mathbf{e}_i \cdot \mathbf{S} \left(T_{kj} \mathbf{e}_k \right) \text{ (Definition 28)},$

 $= \mathbf{e}_i \cdot (T_{kj} \mathbf{S} \mathbf{e}_k)$ (linearity of \mathbf{S}),

 $= T_{kj} \mathbf{e}_i \cdot \mathbf{S} \mathbf{e}_k$ (linearity of inner product),

= $T_{kj}S_{ik} = S_{ik}T_{kj}$ (Definition 28, properties of \Re).